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KVS Memory Based Question PDF - For TGT Social Science (12 Feb 2023, Shift 1)

Q1.

Q2.

Q3.

KVS General English Memory Based
Questions

Out of the four alternatives suggested, select
the one which best expresses the same
sentence in Passive/Active voice.

Those strawberries tasted sour.

(a) Those strawberries were sour when they
were tasted.

(b) That strawberry was sour when tasted.
(c) Those strawberries were sour when it
was tasted.

(d) Those strawberries were sour when
tasted.

Ans. (a)

Out of the four alternatives suggested, select
the one which best expresses the same
sentence in Indirect/Direct speech.

Rahul said to boss, “Tina had left before he
reached auditorium.”

(a) Rahul told to boss that Tina had left
before he reached auditorium.

(b) Rahul told boss that Tina had left before
he reached auditorium.

(c) Rahul told to boss that Tina had left
before he could reach auditorium.

(d) Rahul told to boss that Tina had left
before he had reached auditorium.

Ans. (a)

Select the synonym of the given word.
AFFECTIONATE

(a) neglectful

(b) aloof

(c) sympathetic

(d) suppressive

Ans.(c)

Q4.

Q5.

Q6.

Q7.

find the antonym
EVASIVE

(a) frank

(b) abusive

(c) opaque

(d) slippery
Ans. (a)

Find out which part of the sentence has an
error and select the appropriate option

(A) It is only after/ (B) the fight is over/ (C)
that people realize how excitingitis./ (D) No
error.

(@A

(b)B

(gC

(d)D

Ans. (b)

Fill in the blank with the correct option
Shall we play indoors sweating outin
the sun?

(a) instead of

(b) other than

(c) but of

(d) because of

Ans. (a)

choose the one which can be substituted for
the given words/sentence.

To impose something unwelcome on

(a) subject

(b) extort

(c) disband

(d) inflict

Ans. (d)
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Q8. Find out which part of the sentence has an | Q3. ‘§& =T faeiiy o1z &-
error and select the appropriate option. If a (a) g
sentence is free from error, select 'No Error’. (b) =T
The CEO only discussed (1)/ the new () o
venture (2)/ with his manager. (3)/ No (d) o
Error (4) .
(@1 3L (b)
?Z)); Q4. ‘o ffr % Ioqw 7 21T 21 37 ATt F forg
(d) 4 T 9Te8 &1 F39 HIfo0]
Ans. (a) () %
(b) 387
Q9. Choose the correct modal for the given (c) smerT
statement. (d) sT9=d
We tease each other during childhood. 39 (b)
(a) Used to
(b) Need to Q5. TAwforfea # & fohe ares & a= gaeft stepfs 87
(c) will () T ST FAT-FAT BT T T
(d) Should (b) T8 TET & § T orifa 2
Ans. (a) (¢) T &< HiaT o F1 T
Q10. Fill in the blank with the appropriate article (d) ﬁ-g T A0
I am making my parents S¥T (a)
Christmas present that I will send through ) N
mail. Q6. WalediaTaTdd{ qETaT AT AT E -
(a) a, the (a) ST=ra ATHSTET 7 39T
(b)a, a (b) FreT-ar=T '@T-lT
(c)an,a (c) FH TAT AT FIAT
(d) a,an (d) T forar g
Ans. (a) 37 (c)
KVS General Hindi Memory Based e (7 -10) : Fwferfd e it ermgEs afzu
Questions T It o S9E 29 & forw 3fa e &1 =79
Ffsm
Q1. AT AT TATAATHT 97157 F4T &2 TAaT 7% THE AT AT Fr @ 21wt af
(a) ¥ QT ST T T A E AT AT F T st
(b) &1 S| U AT ATEA el FAl FT GO FdT g1 g
(0 s T AUT % TH ATHT 6 HT Tg gl 98
(d) 7= SITHAT 2 ST 21 T2t FT AT fwrers Hfaat
I (b) T TET | YL IqT I T@T & AT Al T AfeAt
: . HIARTAAT FHSAT ST @l gl TEF FET g7 307
Q. ZS?{W%R%@%%? TrTAT T ATFTLTAHAT Tl TSAT| ATLA T AT ST
(b) 3 H TEAT OHE FIA A FEATH T AT TF =9 B0
(c) 4 THAT g1 G 3T =777 390 e o7 a7~ w7t
(d)5 H 9T HIAT SITAT g TRT TL-TeAT, oaT, [ 37 9e7
ST (b) TArET § Sfra &7 U 1 a9 T )
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Q7.

Q8.

Qo.

Q10.

Q1.

Q2.

ATEA T HATYT STl § TgAT 97 T6E ed A?

(a) zHfoT & T g o

(b) =HTT 3 SR | ®el-%eA, g T aATe Head
I

(c) =aforT o St § o Mgg w|a o

(d) =T & o wafa ST o

I (d)

[ T AT FT 572
(@) BT

(b) ATS

(c) =T

(d) T==1

3L (b)

S et Referfea § & fres gefaa 82
(a) BRI F AgT &

(b) ST I &

(c) &g 0 &

(d) FEATIIT &

3L (b)

TH T F T SATHAT & T qATead 872
(a) -9y =TT ATt

(b) T-9TEY AT ATAT

(C) SATHSA FeAT AT

(d) TL-9TC AT T ATAT

3L (b)

KVS General Awareness & Current
Affairs Memory Based Questions

Who appoints the Prime Minister?
(a) President

(b) Chief Justice

(c) Voice-President

(d) Election Commissioner

Ans. (a)

Whose birthday is celebrated as National
Farmers’ Day?

(a) Deen Dayal Upadhyaya

(b) Chaudhary Charan Singh

(c) Chandi Prasad Bhatt

(d) None of the above

Ans. (b)

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

Who among the following not received Arjun
Award in 2022:

(a) Ms Shushila Devi

(b) Shri Lakshya Sen

(c) Shri Vikas Thakur

(d) Surya Kumar Yadav

Ans. (d)

Ms Sakshi Kumari is associated with which of the
following sports:

(a) Chess

(b) Cricket

(c) Kabaddi

(d) Badminton

Ans. (c)

Who is the author of the book “Tomb of Sand”?
(a) Geetanjali Shree

(b) Shashi Tharoor

(c) Preeti Shenoy

(d) Prakash Singh

Ans. (a)

How many children have been awarded the
Prime Minister’s National Children’s Award
(PMRBP) for the year 2022?

(a) 25

(b) 27

(c) 29

(d) 31

Ans. (c)

Which legend player has sensationally joined
Saudi Arabian club Al-Nassr on a two-and-a-
half-year deal worth 200 million euros per
season?

(a) Sachin Tendulkar

(b) Virat Kohli

(c) Lionel Messi

(d) Cristiano Ronaldo

Ans. (d)

Which Article empowers the President to
impose Financial Emergency?

(a) Article 356

(b) Article 352

(c) Article 364

(d) Article 360

Ans. (d)
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Qo.

Q10.

Q1.

Q2.

As per the 2011 Census, the total population of
India is?

(a) 1,210,193,422

(b) 1,310,193,422

(c) 1,410,193,422

(d) 1,110,193,42

Ans. (a)

Twelve members are nominated to the Rajya
Sabha by the President of India for:

(a) four years

(b) five years

(c) six years

(d) seven years

Ans. (c)

KVS Reasoning Ability Memory Based
Questions

Which of the following correctly represents the
relationship between.

1. Human beings

2. Married

3. Teacher

‘@

(c) @
@00
®

Ans. (a)

There are five houses P, Q, R, S and T. P is right
of Q and T is left of R and right of P. Q is right of
S. Which house is in the middle?

(a) P

(b) Q

T

(d)S

Ans. (a)

Q3.

Q4.

Q5.

Q1.

Direction: Each of these questions has an
Assertion (A) and a Reason (R). Choose the
correct alternative from the following options
for the Assertion (A) and Reason (R) given
below.

Assertion (A): The colour of light with the
shortest wavelength is violet.

Reason (R): One can notice this colour of light
on one end of the rainbow which has seven
colours of different wavelengths.

(a) If both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’

(b) If both ‘A and ‘R’ are true but ‘R’ is not the
correct explanation of ‘A’

(c) If ‘A’ is true but ‘R’ is false

(d) If ‘A’ is false but ‘R’ is true

Ans. (b)

Select the related word/letter/ number from the
given alternatives.

72:90:: 156:7?

(a) 84

(b) 168

(c) 182

(d) 176

Ans. (c)

Pskhmw

TulonV

In the following question, the symbols are used
with the following meaning as mentioned below:
A # B means A is the sister of B

A % B means A is the father of B

A & B means A is the mother of B

A @ B means A is the wife of B

A $ B means A is the brother of B

Then If T@ U $L# 0 &N %V, Then which of the
following statement is true:

(a) T is the husband of U

(b) N is the mother of V

(c) O is the brother of T

(d) N is the son of O

Ans. (d)

KVS Computer Literacvy Memory
Based Questions

Which among the following is an Output device :
(a) scanner

(b) Microphone

(c) Printer

(d) Keyboard

Ans. (c)
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Q2.  Which among the following is not used in word | Q3. How many disabilities have been identified
formatting in MS WORD : as per RPWD act,2016?
(a) Bold (@) 21
(b) Italic
(c) slide show (b) 23
(d) underline (c)18
Ans. () (d) 19
. o . Ans. (a)
Q3.  Which ofthe following is the operating system of
Microsoft:
(a) MS DOS Q4. Which of the following disability cannot be
(b) MS Windows easily identified by a teacher in a class?
(c) MS Paint (a) Dyslexia
(d) None of the above .
Ans. (b) (b) Dyscalculia
' (c) Depression
Q4. Which of the following is not a programming (d) Dysgraphia
language Ans. (c)
(a) PASCAL
b) FORTRAN
EC)) BASIC Q5. According to the RTE Act, a teacher will
(d) FOREIGN spend a minimum of
Ans. (d) in teaching including preparation hours in a
) o _ _ week.
Q5.  Whichof the'followmg is an intersection of a row (a) 30 hours
and column in a spreadsheet?
(a) Formula (b) 40 hours
(b) Worksheet (c) 45 hours
(c) Address (d) 50 hours
(d) Cell A
Ans. (d) ns- (€)
KVS Perspectives on Educationand | Q6- FLNstandsfor
Leadership Memory Based Questions (a) Fundamental literacy and Numeracy
(b) Foundational literacy and Numbers
Q1. Which indiscipline act of learners can be (c) Foundational literacy and Numeracy
least controlled by the teachers? (d) Fundamental literacy and Numbering
(a) Cyberbullying Ans. (c)
(b) Teasing
(3) %c'uff%)e (ajmong learne;‘ls Q7. Instead of limiting classroom learning to
1(\135 1(2(; edience to teachers textbooks, National Education Policy 2020
| suggests that learning and education should
Q2. Sometimes the teachers have to devise be- o
innovative  teaching-learning  methods (a) based on rote memorization of facts and
because? knowledge.
(a) Learners, attendance in class is very low (b) based on increasing students' content
(b) Some learner’s pellrents are very rich ' every 3 months.
(c) Some learners write very long answers in (c) focused on inquiry and the development
the exam . -
) of critical thinking.
(d) Learners come from very diverse )
background (d) focused on learning for exams.
Ans. (d) Ans. (C)
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Q8.

Qo.

Q10.

Q11.

Q12.

Choose the correct one in accordance with
the RTE. The curricular and evaluation
process should:

(a) Make the child free from fear, trauma,
and anxiety

(b) Be child-centered and provide learning
activities

(c) Medium of instruction has to be in the
mother tongue, as far as possible

(d) All of the above

Ans. (d)

A pragmatic educational philosophy would
believe that

(a) Learning is the responsibility of the
student and parent

(b) All learning is dependent on the context
of place, time, and circumstances.

(c) Learning is an interactive process
between the students and the parents

(d) All of the above

Ans. (b)

What is the full form of NIPUN?

(a) National Initiative for Proficiency in
Understanding and Numeracy.

(b) National Initiative for Proficiency in
Understanding and Numbers

(c) National Initiative for Proficiency in
Reading with Understanding and Numeracy.
(d) National Initiative for Proficiency in
Reading with Understanding and Numbers
Ans. (c)

What type of leadership roles are promoted
in schools?

(a) giving

(b) sharing

(c) taking

(d) buying

Ans. (b)

At first, a child uses his hand to hold the
things but later he manages to hold them

with his fingers. The developmental
principle here is -
(a) Development 1is the process of

interaction

(b) Development follows uniformity of
pattern

(c) Development is cumulative

(d) Development proceeds from general to
specific

Ans. (d)

Q13.

Q14.

Q15.

Q16.

Q17.

The full form of TLM in education system-
(a) Teaching learning materials

(b) Technical Learning Management

(c) Technical Learning material

(d) None

Ans. (a)

As per National Education Policy 2020, the
assessment of learners should include the
progress as well as the uniqueness of
learners in-

(a) cognitive, social, and spiritual domains.
(b) cognitive, and physical domains.

(c) cognitive, affective, psychomotor
domains,
(d) physical, physiological, and

psychological domains.
Ans. (c)

National Education Policy 2020 proposes a
shift towards-

(a) learning to learn

(b) rote learning

(c) increase in course content

(d) standardization

Ans. (a)

Education Policy 2020 Ilays
emphasis on the development of-
(a) The creative potential of each individual
(b) The development of proper
infrastructure

(c) The teacher’s training

(d) The vocational courses

Ans. (a)

particular

Which of the statements is not correct about
Curriculum?

(a) It is the list of contents taught to the
students

(b) It includes both curricular and
extracurricular activities organised in a
school or college

(c) It records all experiences of a learner

(d) It is the program of a school or college
activities

Ans. (c)
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Q18.

Q19.

Q20.

Q21.

Q22.

A Curriculum can be called a-
(a) Plan of study materials
(b) Plan for activities

(c) Plan for learning

(d) Plan for evaluation

Ans. (c)

A constructivist view of learning suggests
that children construction of their
own knowledge.

(a) play an active role in

(b) are solely dependent on textbooks in

(c) have no role to play in

(d) are solely dependent on adults for

Ans. (a)

The primacy of NCF in curriculum
development and reform is:

(a) focusing on the socialization of children.
(b) teacher-centered learning.

(c)making curriculum inclusive and
meaningful to children.

(d) making children thorough with
textbooks.

Ans. ()

As per contemporary perspectives, the

course of child development is -

(a) uniform across children and specific
milestones are definitely achieved by all
children as they reach a certain age

(b) multi-directional since children grow up
in varying contexts

(c) completely unpredictable even though
development is uni-directional for all

(d) determined solely by hereditary
information received from parents

Ans. (b)

The central focus of National Education
Policy 2020 is on

(a) Rigid curriculum, pedagogy, and
assessment

(b) Multidisciplinary and holistic education
(c) Learning toward and for exams

(d) Adoption of summative methods of
assessment

Ans. (b)

Q32.

Q24.

Q25.

Q26.

Q27.

Which is the main philosophy of the National
Curriculum Framework - 20057

(a) Learning vocational skills

(b) Learning without the burden

(c) Learning co-curricular activities

(d) Continuous and overall evaluation

Ans. (b)

and are the secondary
agencies for the socialization of children.
(a) family; neighbourhood
(b) religion; parents
(c) school; religion
(d) family; school
Ans. (c)

Providing teaching-learning materials in
accessible formats to diverse learners
implies

(a) Universal Code of Teaching practices

(b) Universal Humanistic Approach to
Teaching

(c) Universal Design of Learning

(d) Universal Inclusive Education Ethical
Considerate

Ans. (c)

Which of the following is the first step of
curriculum development?
(a) Organization of
experiences

(b) Evaluation of learning objectives

(c) Selection of  teaching-learning
experiences

(d) Formulation of educational objectives
Ans. (d)

teaching-learning

Which of the following would be helpful for
an ADHD learner?

(a) Use oral exams

(b) Ask appropriate open-ended questions
(c) Give instructions one at a time

(d) All of the above

Ans. (c)
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Q28.

Q29.

Q30.

Q1.

Q2.

According to RTE Act, 2009 minimum
working days for teachers at the primary
level are:

(a) 250 days

(b) 200 days

(c) 220 days

(d) 275 days

Ans. (b)

Which of the following statement is
incorrect about the roles of a teacher in the
construction of knowledge of students?

(a) A teacher encourages self-analysis and
self-assessment of their learning progress
(b) Provides supporting cooperative and
collaborative learning in the classroom

(c) Connects the knowledge with those
outside the school

(d) Rote memorization of facts given in
books

Ans. (d)

The process of teaching and learning aims:
(a) To contribute to social development
(b) Employment

(c) To contribute to cultural development

(d) To contribute to personality
development
Ans. (a)

KVS Social Science Memory Based
Questions - Main Subject

In which year Gandhi Ji decided to launch a
nationwide satyagraha against the proposed
Rowlett Act?

(a) 1919

(b) 1918

(c) 1920

(d) 1999

Ans. (a)

Choose the correct statement-

1. The Non-cooperation Khilafat Movement
began in 1919 to 1924

2. Forced recruitment is by which the colonial
state forced people to join the army

(a) Only 1

(b) Only 2

(c) Both are correct

(d) Both are incorrect

Ans. (c)

Q3.

Q4.

Q5.

Q6.

Q7.

Q8.

The correct statement is -

1. On 13 April 1919, the infamous Jallianwala
Bagh incident took place

2. The Non-cooperation movement by Gandhiji
was called off because of the Chauri-Chaura
incident

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both are correct

(d) Both are incorrect

Ans. (c)

In which of this area, people’s livelihood, and the
local economy were badly affected by the
disease named Rinderpest?

(a) Asia

(b) Europe

(c) Africa

(d) South America

Ans. (c)

Which of the following places was an important
destination for indentured migrants?

1. Florida

2. Caribbean Island

3. Mexico

(a) Only 1

(b) Only 2

(c) Only 3

(d) None of the above

Ans. (b)

The main aim of the post-war International
economic system was to-

(a) To preserve economic stability

(b) To maintain the status

(c) To increase export

(d) To reduce war loans

Ans. (c)

Which of the following statement is/are correct?
1. Seth Hukum Chand set up the first Indian Jute
Mill in Calcutta

2. A fuller’s job is to gather cloth by pleating

(a) Only 1

(b) Only 2

(c) Both are correct

(d) Both are wrong

Ans. (c)

The ports of Surat and Hoogly decayed in the -
(a) Fifteenth-century

(b) Seventeenth century

(c) Eighteenth-century

(d) Nineteenth-century

Ans. (b)
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Qo.

Q10.

Q11.

Q12.

In Victorian Britain, the wupper classes-
aristocratic class and bourgeoisie preferred
goods because-

(a) They were made from imported material

(b) The handmade goods came to symbolize
refinement and class

(c) They were better finished

(d) Only the upper class could afford the
expensive items

Ans. (b)

By the late 19t century, why did British
manufacturers print calendars for
advertisements?

(a) Indian people were found of using calendars
in their houses

(b) Unlike newspapers and magazines,
calendars were used even by people who did not
know how to read or write

(c) It was cheaper to advertise goods through
calendars

(d) None of the above

Ans. (b)

The correct statement is -

1. Fly shuttle innovations helped the weavers in
increasing productivity and compete with the
mill sector

2. ‘Gomastha’ means a paid servant of the
company who supervised weavers, collected
supplies and examined the quality of the cloth
(a) Only 1 is correct

(b) Only 2 is correct

(c) Both are correct

(d) Both are incorrect

Ans. - (c)

Choose the correct statement -

1. The Fortress Prison of France is called Bastille
2. Unit of currency LIVRE was discontinued in
the year 1794

3. Blue white red colour denotes the natural
colours of France

(a)Only1&2

(b)Only 2 &3

(c)Only3&1

(d) All of the above

Ans. (d)

Q13.

Q14.

Q15.

Q16.

Which of the following is the reason for hating
the fortress prison, the Bastille?

1. It stood for the deposited power of the king

2. Because of the dictatorship

3. Aristocracy

(a) Only 1

(b) Only 2

(c) Only 3

(d) None of the above

Ans. (a)

Which of the following statement is associated
with the event of 14t July 17897

1. The seven prisoners in the Prison were
released

2. The commander of the Bastille was killed

3. A group of several hundred people marched
towards the eastern part of the city and stormed
the fortress prison, the Bastille

(a)Only1&2

(b)Only 2 & 3

(c)Only3&1

(d) All of the above

Ans. (d)

Louis XVI ascended the throne of France, and he
was married to?

1. Australian Princess Marie Antoinette

2. Austrian Princess Elizabeth de France

(a) Only 1

(b) Only 2

(c) Both are correct

(d) None of the above

Ans. (a)

Which region of India is considered an unstable
zone from the geological point of view?

1. The Himalayan Mountain

2. The Indian desert

3. The Peninsular plateau

(a) Only 1

(b) Only 2

(c) Only 3

(d) None of the above

Ans. (a)
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Q17.

Q18.

Q19.

Q20.

Q21.

Choose the correct statements —

1. The Himalayan Mountain ranges run in a
West-East direction from the Indus to the
Brahmaputra rivers

2. The Himalayas consist of three parallel ranges
in their longitudinal extent

(a) Only 1

(b) Only 2

(c) Both are correct

(d) Both are incorrect

Ans. (c)

The wrong statement is -

1. Mount Everest is located in the great
Himalayan range of the Himalayas

2. Dehra Dun, Kotli dun and Patli dun are
longitudinal valleys

(a) Only 1

(b) Only 2

(c) Both r corrects

(d) Both are incorrect

Ans. (c)

How did the increasing number of industries
affect the water condition?

(a) Unequal distribution of water

(b) The balance between the use of water and
industry

(c) Pressure on existing freshwater
(d) No effect on water

Ans. (c)

In India hydroelectric power contributes
approximately............ % of electricity produced-
(a) 22

(b) 32

(c) 42

(d) 52

Ans. (a)

Which of the following are the main factors that
have aggravated the water and energy problems
in India?

(a) Dams

(b) Multiplying urban centers

(c) Deforestation

(d) Afforestation

Ans. (b)

Q22.

Q23.

Q24.

Q25.

Q26.

Q27.

How are most of the housing societies or
colonies in the cities resourcing their water
needs?

1. Individual motors

2. Own groundwater pumping devices

3. Community water pumps

(a) Only 1

(b) Only 2

(c) Only 3

(d) None of the above

Ans. (b)

Which among the following peaks is known as “
Five Treasure of Great snow”?

(a) Mount Kamet

(b) Mount Everest

(c) Kanchenjunga

(d) None of the above

Ans. (c)

What will impoverish the water resources and
cause an ecological crisis that may have a
profound impact on our lives?

(a) Urbanization

(b) Industrialization

(c) Over-exploitation and mismanagement of
water resources

(d) None of the above

Ans. (c)

What is a barrier across flowing water that
obstructs, directs or retards the flow, often
creating a reservoir, lake or impoundment?

(a) Dam

(b) Lake

(c) Canal

(d) None of the above

Ans. (a)

In which type of agriculture, the agriculture
produced is for self-consumption only?

(a) Commercial

(b) Plantation

(c) Subsistence

(d) None of the above

Ans. (c)

Mahatma Gandhi
spiritual leader.
(a) Tilak

(b) MG Ranade
(c) Tagore

(d) Vinoba Bhave
Ans. (d)

declared
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Q28.

Q29.

Q30.

Q31.

Q32.

Q33.

The Bhoodan-Gramdan movement initiated by
Vinoba Bhave is also known as the
Revolution.

1. Green

2. White

3. Bloodless

(a) Only 1

(b) Only 2

(c) Only 3

(d) None of the above

Ans. (c)

Which of the following Five-year plan approach
to the faster, sustainable and more inclusive
plan?

(a) 12t

(b) 11th

(c) 10t

(d) None of the above

Ans. (a)

Which of the following practices will NOT
conserve LPG in your kitchen?

(a) Soaking the dal for some time before cooking
it

(b) Cooking food in a pressure cooker

(c) Keeping the vegetables chopped before
lighting the gas for cooking

(d) Cooking food in an open pan kept on a low
flame

Ans. (d)

Which estate’s representatives were involved in
the Estate General?

(a) First

(b) Second

(c) Third

(d) All

Ans. (d)

The main occupation of the people of Russia in
the beginning of the twentieth century was-

(a) Agriculture

(b) Fishing

(c) Poultry farming

(d) Manufacturing

Ans. (a)

The Central powers during the first World War
included countries like Germany, Turkey and -
(a) Austria

(b) France

(c) Russia

(d) Britain

Ans. (a)

Q34.

Q35.

Q36.

Q37.

Q38.

Choose the correct statements-

1. The book ‘Social Contract’” was written by
Rousseau

2. The book ‘Two Treaties of the Government *
was written by John Locke

3. ‘The Sprit of laws’ is written by Montesquieu
(a) Only 1 is correct

(b) Only 2 is correct

(c) Only 3 is correct

(d) All are correct

Ans. (d)

The most important of the privileges enjoyed by
the clergy and nobility was-

1. Exemption from taxes to the state

2. Ownership of land

3. Right to collect dues

(a) Only 1

(b) Only 2

(c) Only 3

(d) All of the above

Ans. (a)

What do the banks do with the deposits that they
accept from the customers?

(a) Banks use a major portion of deposits to
extend loans

(b) Bank use deposits to set up more branches in
the country

(c) Banks use deposits to give a bonus to their
employees

(d) None of the above

Ans. (a)

Choose the correct statements -

1. China announced its first five-year plan in
1953

2. China has the second-largest GDP

3. The Great Leap Forward (GLF) campaign was
initiated in China in 1958

(a)Only 1 &2

(b) Only 2 & 3

(c)Only3&1

(d) All of the above

Ans. (d)

Which of the following statement is correct
about the relationship between democracy and
rights -

1. Every country that is a democracy gives rights
to its citizens

2. Every country that gives rights to its citizens
is a democracy

(a) Only 1 is correct

(b) Only 2 is correct

(c) Both are correct

(d) None of the above

Ans. (a)
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Q39.

What can be done in case of infringement of the
rights in a democracy -

1. Citizens are helpless, they cannot do anything
2. They can approach courts to protect their
rights

(a) Only 1

(b) Only 2

(c) Both are correct

(d) Both are wrong

Ans. (b)

Q40.

The government is responsible for providing
free and compulsory education to all the
children up to the age of -

(a) 12 years

(b) 10 years

(c) 8 years

(d) 14 years

Ans. (d)

12
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